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(EXREEEVE—158F) (BEAZ mg/d)
I TE F L

HIE B T KER [ BRIva| 8y | B | smres] MEE | TV [NP4=1=] FaS24=1=1 SR BN .

seen| (eom| eam| wam | amlem|am| am | P8 |zrio|zri e | BV

sz 0,00580F[0.098L Fl0.3LA | 1LAF | 1L.5LATF|0.3LAF] 1LLF 10.00384F[0.3LAF[0.1LAF| 3LAF [0.3LL°F

5. 4. 28] < 0.0005 < 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 | < 0.1 [< 0.0005]< 0.01 |< 0.01 [< 0.01 < 0.01

5. 6. 29| A#Hi|< 0.0005 (< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 | < 0.1 [<0.0005]< 0.01 |< 0.01 [< 0.01 < 0.01

AR [< 0.0005 < 0.01 |< 0.02 |< 0.1 [< 0.04 [< 0.01] < 0.1 |< 0.0005|< 0.01 [< 0.01 [< 0.01 |< 0.01

5.11. 10| A#Hi|< 0.0005 [< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [ < 0.1 [< 0.0005]< 0.01 |< 0.01 [< 0.01 < 0.01
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5.12 . 12| i< 0.0005 [< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [ < 0.1 [< 0.0005]< 0.01 |< 0.01 [< 0.01 < 0.01

R 6. 2. 7| AkH|<0.0005]< 0.01 [< 0.02 [< 0.1 |<0.04[<0.01f < 0.1 [<0.0005[< 0.01 )< 0.01 < 0.01 < 0.01

(EXREBEEtVE—25F) (BEAL mg/d)
HIETE H &

A TA KER | ARIvA| g | AR | Ases| BESE | ST N zmr|7horea|1,1,1-R .

WER s o team| am| wam| am| wam| wam | P8 |zrvo|zgisfmmen| T

mitnzav=ef 0.00580F[0.09LA F0.3LLF| 1LAF |1.5LAF10.38LF| 1LAF 10.0032LF|0.38L F|0.1LLF| 3LLF [0.3L4°F

R 5. 5. 16| A#i[< 0.0005 < 0.01 [< 0.02 [< 0.1 |< 0.04 |< 0.01 | < 0.1 [<0.0005< 0.01 [< 0.01 [< 0.01 |< 0.01

R 5. 7. 11 ##Hi< 0.0005 < 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [ < 0.1 [< 0.0005|< 0.01 |< 0.01 [< 0.01 < 0.01

R 5. 8. 3| AR[< 0.0005 (< 0.01 [< 0.02 [< 0.1 |< 0.04|< 0.01 | < 0.1 [<0.0005< 0.01 [< 0.01 [< 0.01 |< 0.01

R 5.10 10 #Hi|< 0.0005 < 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [ < 0.1 [< 0.0005|< 0.01 |< 0.01 [< 0.01 < 0.01

R 6. 1. 30 A#i[< 0.0005 (< 0.01 [< 0.02 [< 0.1 |< 0.04 |< 0.01 | < 0.1 [<0.0005< 0.01 [< 0.01 |[< 0.01 |< 0.01

R 6. 3. 25 A#Hi|< 0.0005|< 0.01 [< 0.02 [< 0.1 |< 0.04 [< 0.01 [ < 0.1 [< 0.0005|< 0.01 |< 0.01 [< 0.01 < 0.01
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(FTEREE5—HKIE) (WAL mg/L)
HIETE B &R E
I e I i WS Rl I I KL e e S I N R e R
Aspteepl LA | LEW | LEW (ke | Lam | taw| LEw TFL|=FLo|ran=s
sz 000520 F[0.092AF|0.3LA F| 1EATF [L5EAF|0.3LLF[ 1EATF [0.00384F|0.3LL F|0.1LA F| 3LLTF |0.3L4F
R 5. 4. 11| A#H[< 0.0005 (< 0.005 |< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005 < 0.003 [< 0.001 [< 0.03 [< 0.002
R 5. 5. 17| A#H|[< 0.0005 [< 0.005 |< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005 < 0.003 [< 0.001 [< 0.03 |< 0.002
R 5. 6. 13| i< 0.0005 (< 0.005 |< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005|< 0.003 [< 0.001 [< 0.03 [< 0.002
R 5. 7. 27 ~#H|[< 0.0005 (< 0.005|< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005 < 0.003 [< 0.001 [< 0.03 [< 0.002
R 5. 8. 18] ~#H[< 0.0005 [< 0.005 |< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005|< 0.003 [< 0.001 [< 0.03 | 0.002
R 5. 9. 29| ~##H|[< 0.0005 < 0.005|< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005 < 0.003 [< 0.001 [< 0.03 |[< 0.002
R 5.10. 13| ~R#H[< 0.0005 [< 0.005 |[< 0.01 |< 0.1 [< 0.05 < 0.005] < 0.1 |< 0.0005|< 0.003 [< 0.001 [< 0.03 | 0.003
R 5 .11 . 16| ~#H[< 0.0005 (< 0.005 |< 0.01 |< 0.1 [< 0.05 < 0.005] < 0.1 |< 0.0005[< 0.003 [< 0.001 [< 0.03 | 0.019
R 5.12. 15| A#Hi|< 0.0005 |< 0.005 0.19 |[< 0.1 |< 0.05 < 0.005| < 0.1 < 0.0005 < 0.003 [< 0.001 [< 0.03 |< 0.002
R 6. 1. 11 ~#it]< 0.0005 < 0.005 < 0.01 [< 0.1 [< 0.05 (< 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 0.006
R 6. 2. 28| A#Hi|< 0.0005|< 0.005 0.01 |[< 0.1 |< 0.05 < 0.005]| < 0.1 < 0.0005 < 0.003 [< 0.001 [< 0.03 |< 0.002
R 6. 3. 21 ~#t|< 0.0005 < 0.005|< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 [< 0.0005]< 0.003 < 0.001 [< 0.03 [< 0.002
(FEREE4—FTIIR) (BAL mg/L)
T TEH SR
g TN IKER |Rsva| g | A Amives| BEE | LTV beB Nyaa|Fhorea|1,1,1-R) Ly
racen| (L EY [ LEM| LED [ (LEYM | LEM | LED| (LEY TFLU|mF Lo |ranms
miznzaoce] 0,006 80 F[0.098L F|0.3LLF| 1LATF |1.5LAF|0.3LLF| 1LATF 10.00380F|0.3LL F[0.1LLF| 3LLF [0.3L4 T
R 5. 4. 11| AkHi|< 0.0005|< 0.005 0.02 |[< 0.1 |< 0.05 < 0.005| < 0.1 |< 0.0005|< 0.003 [< 0.001 [< 0.03 |< 0.002
R 5. 5. 18 ~#it|< 0.0005 < 0.005 |< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 [< 0.002
R 5. 6. 13| AkHi|< 0.0005|< 0.005 0.02 |[< 0.1 |< 0.05 < 0.005| < 0.1 |< 0.0005|< 0.003 [< 0.001 [< 0.03 |< 0.002
R 5. 8. 18 ~#it|< 0.0005 < 0.005 [< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 0.005
R 5. 8. 22 ~#it|< 0.0005 < 0.005 |< 0.01 [< 0.1 [< 0.05 [< 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 [< 0.002
R 5. 9. 12 ~##it|< 0.0005 < 0.005 |< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 [< 0.002
R 5.10. 13| ~#it|< 0.0005 < 0.005 [< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 |< 0.0005]< 0.003 |< 0.001 [< 0.03 0.003
R 5.12 . 5| ~#it]< 0.0005 < 0.005 |< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 [< 0.002
R 5.12 . 15| ~#it|< 0.0005 |< 0.005 [< 0.01 [< 0.1 [< 0.05 < 0.005] < 0.1 |< 0.0005]< 0.003 |< 0.001 [< 0.03 0.002
R 6. 1. 23] ~##it|< 0.0005]< 0.005|< 0.01 [< 0.1 [< 0.05 [< 0.005] < 0.1 [< 0.0005]< 0.003 |< 0.001 [< 0.03 [< 0.002
R 6. 2. 28] ~#H[< 0.0005 (< 0.005 |< 0.01 |< 0.1 [< 0.05 [< 0.005] < 0.1 |< 0.0005 < 0.003 [< 0.001 [< 0.03 [< 0.002
R 6. 3. 26 ~#it|< 0.0005]< 0.005|< 0.01 [< 0.1 [< 0.05 [< 0.005] < 0.1 [< 0.0005]< 0.003 < 0.001 [< 0.03 [< 0.002
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